STANDARD PARTS KEY

THIS DIAGRAM IS AN OVERVIEW ONLY

You will need:-
Slotted screwdriver

Medium Phillips head screwdriver

READ CAREFULLY
AND SAVE

Small adjustable spanner

26mm (17”) wrench or spanner

Cam cross
section

Midpoint \0
 Fig.1 |

Chisel Anvil

Chisel

\

Clamping
Groove

1. Power Chisel Extension Arm
2. Clamping Bolt

3. Clamping Nut

4. Adaptor Plate Screw Housing
5. Impact Cam

6. Felt Pad (Oil Reservoir)

7. Lubrication Port

8. Top Cover

9. Chisel Locking Button
10. Chisel

11. Bushes

12. Button Spring

13. Spring Locator

14. Chisel Holding Spring

Spacer Washers included in the following Power Chisel Kits:-

PCH100
3 x M10 flat washers
3 x M14 flat washers

PCH101
3 x M10 flat washers

. Example Spacer Washer

. Self Tapping Screws

. Grinder Spindle

. Grinder Collar

. Emery Friction Strip

. Adaptor Plate (MINO17)

. Adaptor Plate Housing Screws

. Countersunk Self Tapping Screws

PCH102
3 x M16 flat washers



